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Sample Questions 
Choose the best answer. If necessary, use the paper you 
were given. 

1.  Which of the following fractions is equal to 0.06? 

 

 

 

 

1A. 6 

1B. 60 

6C. 10 

6D. 100 

2. A club has 36 members. If each member donates 
12 items for an auction, how many items will there be in 
the auction? 
A. 48 
B. 108 
C.  422 
D.  432 

3. What is the value of 4 3
10 + 100 ? 

 

 

 

 

43 A. 100 

43 B. 110 
7C. 10 

7D. 110 

4. A conference planner has put together 280 binders for 
attendees and another 31 binders for presenters. How 
many total binders did the planner put together for 
attendees and presenters? 
A.  211 
B.  249 
C.  311 
D.  590 

5. A store stocked 150 cans of popcorn for a weekend sale. 
That weekend, 72 of the cans sold. What percent of the 
cans of popcorn stocked were sold that weekend? 

 
 
 
 

A. 2% 
B. 5% 
C. 48% 
D. 72% 

6.   8 
3 , 2.28, 10 

12 , 0.199 

What number in the list above has the greatest value? 

 

 

 

 

A. 8
3 

B. 2.28 
10 C. 12 

D. 0.199 

7. If Manuel deposits 25% of $130 into a savings account, 
what is the amount of his deposit? 
A. $5.20 
B. $25.00 
C. $32.50 
D. $97.50 

8. What is 1,582 + 761? 
A.  1,119  
B.  1,243 
C.  1,343 
D.  2,343 

9. Xiaoming is making cookies. Each batch of cookies uses 
3 eggs. If Xiaoming has 20 eggs, and assuming he has 
enough of the other ingredients to make the cookies, 
what is the greatest number of batches that he can 
make? 
A.  3 
B.  6 
C.  7 
D.  17 

10. What is the value of 3.85 + 0.004 + 0.117? 
A. 3.9611 
B. 3.961 
C. 3.971 
D. 5.06 

11. Which of the following is equivalent to 8
25? 

 

 
 

 

 

 

 

 

 
 
 
 

  

 

 
 
 
 
 

 
 
 
 
 

 

A. 0.02 
B. 0.32 
C. 0.825 
D. 3.125 

12. What is the remainder when 599 is divided by 9? 
A.  0 
B.  5 
C.  6 
D.  9 
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13.  A machine is currently set to a feed rate of 5.921 inches 
per minute (IPM). The machinist changes this setting to 
6.088 IPM. By how much did the machinist increase the 
feed rate? 

 
 
 
 

A. 0.167 IPM 
B. 1.167 IPM 
C. 1.833 IPM 
D. 1.967 IPM 

14.   0.075, 0.75%, 3 
4 

Which of the following correctly orders the values 
above from least to greatest? 

  

  

 

  

A. 0.75%, 0.075, 4
3 

B. 0.75%, 34 , 0.075 

C. 3
4 

D. 0.075, 0.75%, 3 
4 

, 0.75%, 0.075 

15. What is the value of 2.84 × 3.9? 
 
 
 
 

A. 3.408 
B. 11.076 
C. 34.08 
D. 110.76 

16. What is 0.8637 rounded to the nearest hundredth? 
 
 
 
 

A. 0.86 
B. 0.863 
C. 0.864 
D. 0.87 

17. 60% of what number is equal to 30? 
 
 
 
 

A. 0.5 
B. 2 
C. 18 
D. 50 

18. If       4
3 ÷

1
6 = p, then the value of p is between which of the 

following pairs of numbers? 

A. 3 and 4 
B.  5 and 6 
C.  6 and 7 
D.  7 and 9 

19.  Which of the following inequalities is true? 

 

 

 

 

A. 3
4 

5
7< 

B. >2
3 

5
6 

5 6C. 8 > 10 

D. 4
5 <

2
9 

20. Carole works at a bookstore and a restaurant. In a 

28-day period, Carole worked 14  of the days at the 

bookstore and did not work 1
14

 

 

 

   

 

 

 

 of the days. On the 

remaining days Carole worked at the restaurant. How 
many days did Carole work at the restaurant during the 
28-day period? 
A.  25 
B.  19 
C.  10 
D.  9 
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Answer Key 
1. D 
2. D 
3. A 

4. C 
5. C 
6. A 

7. C 
8. D 
9. B 
10. C 
11. B 
12. B 
13. A 

14. A 

15. B 
16. A 

17. D 
18. D 
19. C 
20. B 
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Rationales 
1. Choice D is correct. 7he QXmEer 0.06 iV the Vame aV Vi[�hXQdredthV� Zhich ZheQ 

ZritteQ aV a IractioQ iV 6 
100 . Choice A iV iQcorrect EecaXVe 16  iV eTXiYaleQt to 

oQe�Vi[th� or 
_ 

0.166. Choice B iV iQcorrect EecaXVe 60
1  iV eTXiYaleQt to oQe�Vi[tieth� or 

_
0.0166. Choice C iV iQcorrect EecaXVe 10 

6  iV eTXiYaleQt to Vi[�teQthV� or 0.6. 

2. Choice D is correct. 7o ƮQd the total QXmEer oI itemV� mXltiSl\ the total QXmEer 
oI memEerV E\ the QXmEer oI itemV each memEer Zill doQate. 7hiV iV reSreVeQted 
E\ 36 × 12 = 432. Choice A iV iQcorrect EecaXVe thiV reVXltV Irom addiQg iQVtead oI 
mXltiSl\iQg. Choice B iV iQcorrect EecaXVe a mXltiSlicatioQ error ZaV made. 7hiV 
reVXltV Irom Qot XViQg a Slaceholder ]ero or ZritiQg the QXmEerV VtartiQg iQ the 
teQV Slace ZheQ mXltiSl\iQg the VecoQd digit. Choice C iV iQcorrect EecaXVe a 
mXltiSlicatioQ error ZaV made. 7hiV reVXltV Irom maNiQg aQ error ZheQ carr\iQg Irom 
the oQeV digit to the teQV digit. 

3. Choice A is correct. The expression 4 3 
10010 +  caQ Ee reZritteQ aV 40 3

100100 + � Zhich iV
eTXal to 43 

100 . Choice B iV iQcorrect EecaXVe it reVXltV Irom comEiQiQg the QXmeratorV 

to create a tZo�digit QXmEer aQd addiQg the deQomiQatorV. Choice C iV iQcorrect 
EecaXVe it reVXltV Irom addiQg the QXmeratorV aQd XViQg the deQomiQator oI the 
ƮrVt QXmEer iQ the VXm. Choice ' iV iQcorrect EecaXVe it reVXltV Irom addiQg the 
QXmeratorV aQd deQomiQatorV VeSaratel\. 

4. Choice C is correct. 7he total QXmEer oI EiQderV the SlaQQer SXt together Ior 
attendees and presenters is 280 + 31 = 311. AddiQg the oQeV Slace   (0 + 1) reVXltV iQ 
the digit 1� addiQg the teQV Slace (8 + 3) reVXltV iQ the QXmEer 11� Zhich VhoXld Ee 
recorded aV a 1 iQ the teQV Slace aQd a 1 carried to the hXQdredV Slace� theQ addiQg 
the hXQdredV Slace   (2 + 1) reVXltV iQ the digit 3. Choice A iV iQcorrect. 7hiV aQVZer 
reVXltV Irom Qot carr\iQg a 1 to the hXQdredV Slace aIter addiQg the teQV Slace. 
Choice B iV iQcorrect. 7hiV aQVZer iV the reVXlt oI VXEtractiQg the SreVeQter EiQderV 
Irom the atteQdee EiQderV. +oZeYer� the total QXmEer oI EiQderV Zill Ee IoXQd throXgh 
additioQ� Qot VXEtractioQ. Choice ' iV iQcorrect. 7hiV aQVZer reVXltV Irom iQcorrectl\ 
addiQg the QXmEerV. 

5. Choice C is correct. 'iYide the QXmEer oI caQV Vold E\ the QXmEer oI caQV VtocNed 
aQd mXltiSl\ E\ 100 to ƮQd the SerceQt� 72 ÷ 150 × 100 = 48%. Choice{A iV iQcorrect.  
7hiV iV the aSSro[imate reVXlt oI diYidiQg 150 E\ 72. Choice B iV iQcorrect. 7hiV iV the  
aSSro[imate reVXlt oI diYidiQg 72 E\ 15. Choice ' iV iQcorrect. 7hiV iV the QXmEer oI  
caQV Vold reSreVeQted aV a SerceQt. 

6. Choice A is correct. 7he IractioQ 83  is greater than 1 EecaXVe the QXmerator iV larger 

thaQ the deQomiQator. 7hiV maNeV it greater thaQ choice C or choice '� Zhich are Eoth 

less than 1. 7he IractioQ 83  caQ Ee coQYerted to a mi[ed QXmEer (2 23 ) or decimal  
(aSSro[imatel\ 2 66. ) E\ diYidiQg 8 E\ 3. 7hiV maNeV it eaVier to comSare choice A to 

the other choiceV. ChoiceV B� C� aQd ' are iQcorrect EecaXVe 83 (or aSSro[imatel\ 

2.66) is greater than 2.28� 12 � aQd 0.199

 

 

10 . 

 

5 
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7. Choice C is correct. 7o ƮQd 25% of $130.00� mXltiSl\ �130.00 E\ 0.25� Zhich iV �32 50. . 
Choice A iV iQcorrect EecaXVe �5.20 is 4% of $130� Zhich reVXltV Irom diYidiQg  �130.00 
E\ 25. Choice B iV iQcorrect EecaXVe �25.00 iV aSSro[imatel\ 19% of $130� Zhich 
ma\ Ee the reVXlt oI miVXQderVtaQdiQg 25% to Ee �25. Choice ' iV iQcorrect EecaXVe 
$97.50 is 75% of $130� Zhich iV Qot the amoXQt that Zill go iQto the VaYiQgV accoXQt. 

8. Choice D is correct.     1�582 + 761 = 2�343. ChoiceV A� B� aQd C are iQcorrect. Choice A 
reVXltV Irom addiQg aQd carr\iQg Irom leIt to right iQVtead oI right to leIt. Choice B iV 
iQcorrect EecaXVe Qo QXmEerV are carried to the Qe[t Slace YalXe. Choice C iV 
iQcorrect EecaXVe the 1 Irom the hXQdredV Slace iV Qot carried to the thoXVaQdV Slace. 

9. Choice B is correct. ,I ;iaomiQg haV 20 eggV� aQd each Eatch oI cooNieV XVeV 
3 eggV� the QXmEer oI EatcheV caQ Ee IoXQd E\ diYidiQg 20 E\ 3. 7hiV doeV Qot diYide 
eYeQl\� Vo the QXmEer VhoXld Ee roXQded doZQ to 6 EecaXVe ;iaomiQg doeV Qot haYe 
eQoXgh eggV to maNe 7 EatcheV (7 × 3 = 21). Choice A iV iQcorrect EecaXVe 3 EatcheV  
ZoXld XVe oQl\ 9 eggs   (3 × 3 eggs). 7hiV meaQV that ;iaomiQg ZoXld haYe 11 eggs  
leIt� Zhich iV eQoXgh to maNe more EatcheV. Choice C iV iQcorrect EecaXVe 7 EatcheV  
ZoXld XVe 21 eggs (3 × 7 = 21)� EXt ;iaomiQg haV oQl\ 20 eggV. Choice ' iV iQcorrect  
EecaXVe 17 EatcheV ZoXld XVe 51 eggs     (17 × 3 = 51)� EXt ;iaomiQg haV oQl\ 20 eggV. 

10. Choice C is correct. 8ViQg the VtaQdard algorithm� the VXm oI the thoXVaQdthV 
SlaceV (7 + 4) is 11� Vo a 1 VhoXld Ee recorded iQ the thoXVaQdthV Slace aQd a 1 carried  
to the hXQdredthV Slace. 7he VXm oI the hXQdredthV SlaceV       (5 + 0 + 1 + 1) is 7� the VXm 
oI the teQthV SlaceV iV 9� aQd the VXm oI the oQeV SlaceV iV 3. 7hiV reVXltV iQ 3.971. 
Choice A iV iQcorrect. 7hiV reVXltV Irom addiQg Irom leIt to right aQd recordiQg aQ 11 
aV the reVXlt oI addiQg the thoXVaQdthV SlaceV. Choice B iV iQcorrect. 7hiV reVXltV 
Irom Qot carr\iQg the 1 Irom the thoXVaQdthV Slace to the hXQdredthV Slace. Choice ' 
iV iQcorrect. 7hiV iV the VXm oI 3.85� 0.04� aQd 1.17. 

11. Choice B is correct. 7he IractioQ 8 
25  caQ Ee ZritteQ aV 32 

100 � Zhich caQ Ee iQterSreted 

aV thirt\�tZo hXQdredthV� or 0.32. Choice A iV iQcorrect. 7hiV ma\ Ee the reVXlt oI 
diYidiQg the QXmerator E\ 4 iQVtead oI mXltiSl\iQg ZheQ coQYertiQg to a commoQ 
denominator of 100. Choice C iV iQcorrect. 7hiV ma\ Ee the reVXlt oI tr\iQg to Iorm 
a QXmEer XViQg the QXmerator aQd the deQomiQator oI the IractioQ. Choice ' iV 
iQcorrect. 7hiV iV the reVXlt oI 25 diYided E\ 8. 

 

  
 

    
  

 

   
 

 
    

    
 

  
  

 

 
 

 

  
 
 

 
 

   
         

 
 
 

 

  
  

 
 

12. Choice B is correct. 7he reVXlt ZheQ 599 iV diYided E\ 9 is 66 Zith a remaiQder oI 
5. 0XltiSl\iQg 9 × 66 = 594 and 599 − 594 = 5� Zhich iV the remaiQder. Choice{A iV 
iQcorrect. 7hiV ma\ Ee the reVXlt oI thiQNiQg that 9 diYideV eYeQl\ iQto 599. Choice C 
iV iQcorrect. 7hiV ma\ Ee the reVXlt oI determiQiQg that 9 goes into 599 Vi[t\�Vi[ timeV 
aQd miViQterSretiQg the meaQiQg oI thiV QXmEer. Choice ' iV iQcorrect EecaXVe thiV iV 
the diYiVor� Qot the remaiQder. 

13. Choice A is correct. 7he amoXQt E\ Zhich the Ieed rate iQcreaVeV iV the diƬereQce 
EetZeeQ the VecoQd Ieed rate aQd the ƮrVt Ieed rate. 7hiV iV reSreVeQted E\ 

    6.088 − 5.921 = 0.167. ChoiceV B� C� aQd ' are iQcorrect aQd ma\ Ee the reVXlt oI errorV 
ZheQ VXEtractiQg the tZo QXmEerV giYeQ. 

6 
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14. Choice A is correct. 7o EeVt comSare the QXmEerV� the\ VhoXld Ee SXt iQ the Vame 
Iormat. 7he SerceQt 0.75% caQ Ee coQYerted to a decimal E\ diYidiQg 0 75.  E\ 100� 
Zhich giYeV 0.0075. 7he IractioQ 34  caQ Ee coQYerted to a decimal E\ diYidiQg 3 E\ 4� 
Zhich gives 0 75. . 3laciQg theVe QXmEerV iQ order Irom leaVt to greateVt \ieldV 0 0075� 
0.075� aQd 0.75

.
. ChoiceV B� C� aQd ' are iQcorrect EecaXVe QoQe oI them order the 

QXmEerV Irom leaVt to greateVt. Choice B iV iQcorrect EecaXVe 34  is greater than 
0.075. Choice C iV iQcorrect EecaXVe 3 

4  iV the greateVt YalXe� Qot the leaVt. Choice ' 
iV iQcorrect EecaXVe 0.75% is less than 0.075. 

15. Choice B is correct. 8ViQg the VtaQdard algorithm to mXltiSl\ the teQthV Slace oI 3.9 
E\ 2.84 reVXltV iQ 2.556� aQd theQ mXltiSl\iQg the oQeV Slace oI 3.9 E\ 2.84  reVXltV iQ 
8.520� ViQce each SrodXct mXVt haYe three SlaceV to the right oI the decimal. 7he VXm 
oI theVe tZo QXmEerV iV 2.556 + 8.520 = 11.076. Choice A iV iQcorrect. 7hiV reVXltV Irom 
Qot XViQg a Slaceholder ]ero ZheQ mXltiSl\iQg the oQeV Slace. Choice C iV iQcorrect. 
7hiV reVXltV Irom Qot XViQg a Slaceholder ]ero ZheQ mXltiSl\iQg the oQeV Slace aQd 
iQcorrectl\ SlaciQg the decimal SoiQt iQ the reVXltiQg QXmEer. Choice ' iV iQcorrect. 
7hiV reVXltV Irom SlaciQg the decimal SoiQt to match the QXmEer oI decimal SlaceV 
in 2.84. 

16. Choice A is correct. 7he VecoQd digit to the right oI the decimal SoiQt iV iQ the 
hXQdredthV Slace aQd the third QXmEer to the right oI the decimal SoiQt iV iQ the 
thoXVaQdthV Slace. 7he QXmEer iQ the hXQdredthV Slace iQcreaVeV E\ 1 ZheQ the 
QXmEer iQ the thoXVaQdthV Slace iV 5 or greater. 7he QXmEer iQ the hXQdredthV 
Slace remaiQV the Vame iI the QXmEer iQ the thoXVaQdthV Slace iV leVV thaQ 5. 6iQce 
the QXmEer iQ the thoXVaQdthV Slace iV leVV thaQ 5� the QXmEer 0.8637 VhoXld Ee 
roXQded doZQ to 0.86. Choice B iV iQcorrect. 7he QXmEer 0.863 is 0.8637 trXQcated 
to the thoXVaQdthV Slace iQVtead oI roXQded to the QeareVt hXQdredth. Choice C 
iV iQcorrect. 7he QXmEer 0.864 is 0.8637 roXQded to the QeareVt thoXVaQdthV Slace 
iQVtead oI roXQded to the QeareVt hXQdredth. Choice ' iV iQcorrect. 7he QXmEer 
0.87 is 0 8637.  roXQded XS to the QeareVt hXQdredth� EXt ViQce the QXmEer iQ the 
thoXVaQdthV Slace iV leVV thaQ 5� the QXmEer VhoXld Ee roXQded doZQ. 

17. Choice D is correct. Dividing 30 E\ 60%� Zhich iV eTXiYaleQt to 0.60� giYeV 50. 6o 
60% of 50 is 30. ChoiceV A aQd B are iQcorrect EecaXVe 60% ZaV Qot coQYerted iQto 
a decimal� aQd iQ choice B the diYiVioQ ZaV doQe iQ the ZroQg order. Choice C iV 
iQcorrect EecaXVe 30 ZaV mXltiSlied E\ 0.60 iQVtead oI diYided. 

18. Choice D is correct. The expression  4
3 ÷

1
6 = 43 × 6 = 24 

3 = 8. 7he QXmEer 8 is 
EetZeeQ 7 and 9. ChoiceV A� B� aQd C are iQcorrect. 7he TXotieQt oI the tZo giYeQ 
IractioQV iV Qot EetZeeQ aQ\ oI theVe SairV oI QXmEerV. 
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19. Choice C is correct. 7he IractioQ 58  is greater than  10
6 . :heQ XViQg a commoQ 

deQomiQator� thiV VtatemeQt iV eTXiYaleQt to   25 > 24
40 40 . :heQ tZo IractioQV haYe a  

commoQ deQomiQator that iV SoVitiYe� the IractioQ Zith the larger QXmerator iV 

the larger QXmEer. Choice A iV iQcorrect EecaXVe 4
3  is not less than 7

5 . 6hoZQ 

 ZritteQ Zith a commoQ deQomiQator� the comSariVoQ   21 20
2828 <  iV Qot trXe. 

Choice B iV iQcorrect EecaXVe 3
2  is not greater than 56 . 6hoZQ ZritteQ Zith a commoQ 

deQomiQator� the comSariVoQ   4 > 566  iV Qot trXe. Choice ' iV iQcorrect EecaXVe 

5
4  is not less than  

2
9 . 6hoZQ ZritteQ Zith a commoQ deQomiQator� the comSariVoQ 

  36 10 
4545 <  iV Qot trXe. 

20. Choice B is correct. Carole ZorNed 14  of the 28 da\V at the EooNVtore� Vo Vhe ZorNed 

7 da\V at the EooNVtore   14 (28 × ). 6he did Qot ZorN oQ 1 
14  oI the da\V� Zhich eTXalV 

2 da\V   (28 × 14 
1 ). 6XEtractiQg theVe amoXQtV Irom 28 giYeV the QXmEer oI da\V Vhe 

ZorNed at the reVtaXraQt       (28 − 7 − 2 = 19). Choice A iV iQcorrect aQd ma\ Ee the reVXlt  
oI erroQeoXVl\ addiQg 14 and 14 

1  aQd ƮQdiQg  18
2  aV the da\V Qot ZorNed at the 

reVtaXraQt.     28 − (28 × 18 
2 ) iV aSSro[imatel\ eTXal to 25. Choice C iV iQcorrect aQd ma\ 

Ee the reVXlt oI addiQg the deQomiQatorV oI the IractioQV (14 + 4) aQd XViQg thiV aV 
the QXmEer oI da\V Carole did Qot ZorN at the reVtaXraQt� 28 − 18 = 10. Choice ' iV 
iQcorrect EecaXVe it iV the total QXmEer oI da\V Carole ZorNed at the EooNVtore aQd 
the da\V Vhe did Qot ZorN. 
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